DNK &5l — SAeERIEREL

EBN SR ST BT EA CHELIC.
C AR IBE
— ljk ‘ T i b H
T —

C RBR
IEH il K G 232 @40 250 263 280 100
ZHTR 25,50,75,100,125,150,175,200,250,300,350,400,450,500 (700,1000)
fERmEE BIREZBIEER
HEME HE®
i PR R A 6 kgflem? (kPa ) 4~6.5 (400 ~ 650)
HEBSRIEEES  koffom?(kPa)|  4(400) | 44000 | 35(350) | 3.5(350) 3 (300) 3 (300)
SAE R HIEN T A A
B BRI BABTEATRESN) kof 52 \ 88 | 137 | 206 | 310 | 471
(mm/s) HEBCOKT) = REFN x70%
4B BRAIBh{E L IEE 50 +0.7 +0.8 +0.9 +0.8 +0.8 +1
(mm) 100 +1 +1 +1 +1 +1.2 +1.4
200 +1.3 +1.6 +1.4 +1.8 +2.1 +2.4
ERRE °C -10°C ~ 60°C

O FTERERMIEAR

¢ Dh‘lK ) 5‘0

[ wEar || & &

32 - @32 mm

40 - @40 mm o590

(MEERR)| oD
—

&

CS-9B
(mEEY)[ o |

50 - @50 mm

63 - @63 mm

80 - @80 mm

100 - @100 mm

250 - 250 mm %
CS-86

300 - 300 mm ) [5G

350 - 350 mm

400 - 400 mm é

450 - 450 mm conn

Ut

500 - 500 mm (mEEAR) [ 8B
[ magsk (TRYBMESS)
9D:CS-9D
9B:CS-9B
8G:CS-8G
8B:CS-8B




DNK &5l — SAeERIEREL

ZHRBRARMER CHELIC.
C EEEEIEAN
DNKP :|
irl MR EHEEEE
32 DNKP 32 - 3% No. 10,11,14
40 DNKP 40 - 3% No. 10,11,14
50 DNKP 50 - 3% No. 10,11,14
63 DNKP 63 - 33 No. 10,11,14
80 DNKP 80 - 3% No. 10,11,14
100 DNKP 100 - 3% No. 10,11,14
© NEEIEE
(®) ? 7) (1) (1)
= = T \
- = 117
i Pa—
v N
AN e | &
u S
12)(13)(16) (5) (15) (3)(4 1/(@
A == =
Il I
. T T
fl [z}
i [~
RS!
C THBBRMER
F B B E = F B B g =
01 M EIRARE 1 10 EEBE 2
02 =S 1 11 ORI 2
03 HFFIR 2 12 i % 1
04 R RIS 5 13 gz 30 1
05 BHEEE 1 14 & £ 1
06 IR 2 15 HER 1
07 ERAREEE 2 16 A7 AT IEE IR 10
08 EE 2 17 BRERIZAAAE 4
09 i & 2 18 kil | 1

6-6.26

DN
TWEE
BRE

DMB
BER
PEL S

DU
TWEHE
BRE

DNK
$EAE
F B RET

DNE
LEER
HERTH

DCK2
prstEaril

DQ
RSt

DCQ
SHETHREREL



DNK %%l — saS SR EREL

SMREF R CHELIC.
O©C DNK @32 ~ 3100 ——
EB 2-EE
4T _NM_ P RAEEHRE P
—?ﬁ @)
& == 5] %( O
K%Q wls N (@ @\ °l s
oS =<t 5 ‘ W22 BN 8
N S &I:‘ ¥ @ @})\
1
O @ ] o
KU BF G H+ 1752 G
ap WF B 71+ 5%
OE AM ZB + 1712 J

iKY AM| B |BE|BF | D | E| EE | EB | G | H WE| T | z1|zB

(mm)
@32 22 | 73 |30 | 8 |325| 47 | G1/8 | G1/8 | 26 | 42
240 24 | 76 | 35| 8 |38 |53 | G1/4 | G1/8 | 30 | 45
250 32 |90 | 40 | 8 (46.5/ 65 | G1/4 | G1/8 | 30 | 46
263 32 | 92 | 45 | 10 (56.5( 75 | G3/8 | G1/8 | 32 | 57
280 40 | 110 | 45 |10 | 72 | 95 | G3/8 | G1/4 | 38 | 52
2100 40 |130| 55 | 10 | 89 |115| G1/2 | G1/4 | 40 | 58

KK KU | MM | NM | P

18 [M6 | 94 | 185
18 [M6 | 105|199
20 (M8 | 106|216
22 (M8 | 121|235
24 |M10| 128 | 262
26 |M10| 138 | 294

M10x1.25P | 10 | 12 | 12 | 10
M12x1.25P | 14 | 16 | 12 | 15
M16x1.5P | 17 | 20 | 14 | 15
M16x1.5P | 17 | 20 | 14 | 16
M20x1.5P | 22 | 25 | 16 | 19
M20x1.5P | 22 | 25 | 16 | 20

olo|slo|lals| o
NN (N[~~~ O

6-6.27



DNK &% — 5 &M EREL
i BS 14 R~ CHELIC.

O Y EZE

v ‘JL‘ Blgg [aE<g D | F| G KK
Y - M10x1.25 | @32 10 | 40 | 52 | M10x1.25
7? |J Y - M12x1.25 | @40 12 48 | 62 | M12x1.25
T 8l Y-M16x1.5 | ©50,063 | 16 | 64 | 83 | M16x15
- Y -M20x1.5 | @80, @100| 20 | 80 | 105 | M20x 1.5
° w 1 gg%ﬁ ﬁIiéTé T V] v
Hin T Y - M10%1.25 | @32 20 | 10 | 20
il B Y - M12x1.25 | @40 24 | 12 | 24
\E_KJ Y-M16x1.5 | @50, @63 | 32 | 16 | 32
Y -M20x1.5 | @80, @100| 40 | 20 | 40
C mfR¥ZEE
C
B E RSk [ARES B | c | D|E]J|F
G - M10x1.25 | @32 105 | 14 | 10 | 26 | 43
# Kx G - M12x1.25 | @40 12 | 16 | 12 | 30 | 50
— gl () G-M16x1.5 | @50,@63 | 15 | 21 16 | 38 | 64
-8 \ y G-M20x1.5 | @80,0100 | 18 | 25 | 20 | 46 | 77
I~ 2
" o, © sk il S G J KK SW
il sw G - M10x1.25 | @32 56 | 21 | M10x1.25 | 17
Clopei | | G - M12x1.25 | @40 65 | 24 | M12x1.25 | 19
. ( G-M16x1.5 | @50,063 | 83 | 33 | MI6x15 | 22
KK‘ G -M20x1.5 | @80,@100| 100 | 40 | M20x 1.5 30
C ZEHiEmE
B il S A B c D E
CJ - M10x1.25| @32 54 13 | 24 | 255|144
CJ - M12x1.25| G40 71 17 29 31 18.8
. TS g CJ-M16x1.5 | @50,@63 | 88 | 21 | 27 | 38 | 31
LY CJ-M20x1.5 | @80, @100 | 105 | 25 | 32 | 50 | 27.5
itk il S F KK U
B CJ - M10x1.25| @32 45 | M10x125 | 1
A CJ - M12x1.25| @40 8 | M12x1.25 | 1.15

CJ -M16x1.5 | @50, @63 8 M16 x 1.5 1.65
CJ - M20x1.5 | @80,3100| 15.5 | M20 x 1.5 2.15

© himiRIE

KK
R w3 i H KK W
m M10x1.25 | @32 6 M10 x 1.25 17
y M12x1.25 | @40 7 M12 x 1.25 19
w H M16x1.5 | @50 , 63 8 M16 x 1.5 24
‘ ‘ ‘ M20x1.5 | @80,0100| s M20 x 1.5 27
SW | H |

6-6.29



DNK #&3l — 85 & HRiEL
RSS2 RERBEFRTE cHELIC

OREBREBEERI

DN
TWEE
BRE

DMB
BER
PEL S

DU
WEE
RhFESS HEER

DNK
#as
BEREERECRS | AER

DNE
fle2:4)
SBERRH

DCK2
JHERIEL

DQ
RSt

| DcQ

== v

O REREERRERYT
BEfi::mm
kY 32 40 50 63 80 100
A 24.2 27.3 344 39 49.4 57.8
B 25 28 33.4 38.7 48 57
C 26 26 26 26 26 26

6-6.30



DNK %% — (RS S HEREL

RERZ LR R ESHERTE CHELIC
© CS-9D(B)
BnE
BB 1R 44 T ————— WERHME
[ — )

|

RFESE(G)
BFEE(R) ‘é?]f’ﬁ%ﬁ(F) ‘ BREE(R)
T T
L%E; BB
= = B : mm
C REEE i CS-9D(B)
BEREENAREL  BEERHMELRER SELELE BEGOE (F) | OHEE (R)
B » RARAR (R RS RRIEN (2 608 5 MRS 22 12 3
%ﬁ%ﬁz%%Fﬁﬁ'\JEOSmmﬁﬁzgﬁ% ° 40 12 2~3
50 15 3~3
C FEEIE 63 15 2~3
ESERECISENERS - BRI S EE 8o 20 23
B HEE(E A2 RS 22 kg o 100 20 23
(E2REREE)
CEEER
H*)
L,
B ) Mo
=()
CS-9D
fEFAEEEE: DC 5~120V {EFAERE: DC 5~120V
AC 5~120V AC 5~120V
=[G
T — =)
&
CS-8G CS-8B
{HEFAERE: DC 10~28V {HEFAERE: DC 10~28V

6-6.31



